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ARTfE BEAE | SEER | 2RERNA| akEHEB]| ERA/B]
A—Totw3F— AR 6 8 8 8 1.00
BE7E—IILAR (B1E-FEAK) 1 1 1 1.00
BE7E—JLAR (F1E-4EA) ) 0 0 0
HE7E—ILAR (F2E-FFEAHR) 0 0 0
BE7E—ILAK (520 - 4EH ) 0 0 0
FEER BB AR (1) 5 8 8 8 1.00
EERHIHERE AR (F20E) 0 0 0
NEFIHEAR (EIR-FEREAR) 0 0 0
NEHEBAR (FEIR-LAL—FK) 0 0 0
AEFIHEBAS (F1E-A—T o3 —FK) ) 0 0 0
NEFIHEBEAR (FE2E-FERFEAR) 1 1 1 1.00
NEFIHEAR (F2E-LAH—AK) 0 0 0
AEFIHEBAS (F2E-A—T o3 —FK) 0 0 0
NEFIHEAR (E1E-GREAR) ) 0 0 0
AEHHEB A (20 - 5REAK) 1 1 1 1.00
BEEAHR 2 1 1 0
—iERARATEIARTE 19 24 24 24 1.00
—ER A ATEIBETE 5 5 4 1.25
—iER AR AIHACHTE 2 9 9 9 1.00
— B AR Z AR 2 3 2 1 2.00
REAZHBTANIAASABRE 2 29 29 23 1.26
RKEAZHBETAMIAAKBATE 2 1 1 1 1.00
RKEAFHETACFIRAAKCHIE 1 0 0 0
NEIABZESFH AR (FE1E) H=T4 1 1 1 1.00
SEANBFERRIAG (FE20E) &ET4 2 2 2 1.00
&t 40 94 93 84 1.11




